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@ A2 +NEZ (el &J)

= & A = Xl = Al |
g = =gl dEEsH 52 g g X&EH HEACKEN 2
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S o = 468,000 493,000 A25,000 |HI & Xt 4 AF & H 350,000 350,000

2 x = 0 0 0|8 X & A & i 0 0 0

Xt o = 0 0 ojer = 2 ¢« 0 0 0

B ol xTz ¥ 5 0 0 021 = & 4l 0 0 0
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Ol &ERE= 0 20l &
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M - 2 2,447,124 1,938,674 508,450
THoH & XH:H Oied 350,000 360,000 0
Hetzedig 28 (M) 350,000 350,000
THHOI AR =& 350,000 350,000 0
206 MZH] 50,000 50,000 0
01 =4l 50,000 50,000 50,000 0
O MHesS=2+ & HHUEAY 28 7Y = 50,000
401 AlEHIZL S0 300,000 300,000 0
01 Al&dl 300,000 300,000 300,000 0
O MtsSss7 & HHULA = 300,000
Hees(HE 2,007,124 1,588,674 508,450
SEIES(MHH22DI3)(Mt2ell132) 2,097,124 1,588,674 508,450
OIXI=(602) 2,007,124 1,588,674 508,450
602 OiXl= 2,007,124 1,588,674 508,450
01 LEHHIXIS 1,071,124 1,071,124 633,674 437,450
O Jl= txl=2 = 1,071,124
02 S|RUX= 1,026,000 1,026,000 955,000 71,000
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Ol & RE= o 20l &
HFE - sEsEE =
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xt ol 2 0 0 0|el bl 0 0 0
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Gl 2 3 # 10,187,245 10,185,645 1,600 | O = 10,187,345 10, 185,745 1,600
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S 1,400 900 500 (0l =2 & el 3a e 0 0 0
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2019 = 26,656 1,943 9,013 22,550 22,548 0 2 4,106
2020 = 22,1% 2,053 6,642 18,804 17,364 0 1,440 3,391
20219 = 15,970 1,570 0 18,283 18,283 0 0 N2,313
20224\ = 19,700 00 5,000 24,800 22,800 0 2,000 /5,100
2023 = 20,200 1,400 5,000 23,000 22,800 0 200 A2,800

Hl 410,255 65,088 190,567 300,903 281,972 0 18,931 109,352
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T|I= Al el
4. GiXl= & GIE¥= Al
SIHAE 20234
Ol & Xb== 0 204
A7E - ASEEIIS _
(St &
OIX % ool
T2 Ol X1 (£4) & Hl
2021 U TH M 0229 = AEHTHHE) 2023 LY UO® E2(0-@)

=R 117,252 112, 152 109,352 £2,800
0IxI2 ZS ] 117,252 112, 152 109,352 A2,800

SHEYS 117,252 112, 152 09,352 £2,800
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